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Chapter 9B Exam - Spring 2019
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Show All Work: Your teacher reserves the right to give no credit when work is not
shown: number your problems on the workspace pages.

Simplify each of the following. Leave answers in exact, simplified, radical form.
No decimals allowed.
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3) 2./45 — 5/20 L -
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Use the distance formula to find the distance between the 7. 5 '/75-
given points. Give exact answers in simplified radical form.

)
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9.) (4, -2), (10, 6) 10.) (17, 6), (10, —1)

11. Use a Pythagorean triple to find the missing side of each

right triangle: ‘/—""
TR A

a) a=__ 35 ,b=120, c= 125 Use: 7-24-25

l.a= I35
b) a=60, b= /44 ,c=156  Use: 5-12-13 -
, b=_/
¢) a=87, b=116, c=_ /435 Use: 3-4-5
= /45
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In 12 - 13, give the side ratios for the angles requested. Answers must be in simplified
fractional and/or simplified radical form.

12.) Answer Columy
Vs
16 cm 12. sin A= 8
COS A= ’Z"gj
14 cm A tan A = W//; :52
4
13.) 13. sin0=_ 5
15 ecm 3
cos O = S
0 A
9 cm tan O = 3

In 14 - 17, use a trig function or an inverse trig function to find the unknown value.
Round side lengths and angle measures to the nearest tenth. Label all answers with
the necessary units.

14.) —= 15) . 18mm 1 x= 328cm

i :
X
k

22° al 5. k= 111 mm

36 cm
o]

17) B 16. m20="/.4
25|mm

e 17.
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Answer Column

18.) An equilateral triangle has sides of length 16 cm. 5. 64VD e
Find its area. )

19.) What is the diagonal length of a rectangular prism 19 2N 29 Cn
having length, width, and height of 4 ¢cm, 6 cm, and 8 |

cm, respectively?

20.) What is the slant height of a square pyramid with = 20

base perimeter of 96 mm and height of 16 mm? 20. - mm
21. One angle of a rhombus measures 120°. If the figure's _ 5
perimeter is SZﬁ cm, find the length of each of its diagonals. 21.dy = ‘%j-';; Cm,

= 39 om
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[5%] B1. Given the facts, find the height of Bldg 1:

ek Pretest weddked
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All units are in feet. Building 1 and Building 2 are 40 feet part. The angle of
depression from the top of Bldg 1 to the top of Bldg 2 is 32°. The bottom of
the 8-foot, Bldg 1 window depicted is 90 feet from the ground, and the
angle of elevation from top of this window to the top of Bldg 2 is 47°.

All work/steps required to find the answer must be shown. Round the final

answer to the nearest foot.

— — — —

. rzqﬁ
/4- 2 Bldg 1
chf é,g
T G T K o
Fe- 4o AN BT Y
3 “4o g@
Bldg 2 ‘
g % = L’O‘ 4 3;@
"ﬁhf#7%-é% < \g?ag.zygéi]
X= oTHNnHT7
47
)(. ~ P Yo’ Y << window
\w;imﬁthg9
Vo T - EOG [ N
go+ §* Y2894 77 =
/65, S8 ,
70 << ground level

JLe’

Height of Bldg 1:
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